1. 1009cm — 356cm — 742cm + 94em = AlAFsHe}. (3)
2. 2849 x 92 atet (3)
3. &35 Alttstet. (6)

a) —11239— (—4732)+ 9639

(a)
(b) —164x —12
(c)

c) 367X —19

4. theg A4rstat. (4)
(a) $153+9 (b) 1397g + 11

5. ofL Ate AEe Aako] 27golr}. ol AR 750719 AW kgo 2 AAtslel. (3)

6. 15, 40, 75, 1200] Ojs} zZ+z+ ct&-& F5ket. (7)

(a) Z|djsof4 (b) &|AFul4
¥ (M 7~12) o5 Alg AlLtsket
7. 7+20+(9-5) (3)
8. 147-21(24+3)+31 (3)
9. 40+ (1+4)+7[8+(3x8)—27] (5)

(7-3)(2-5)

10. 39—5)+(2—6)

(3)

(7T+4%x5)+3+6+2
" 2x4+(5—-8)—2*+3

(4°x5—8)=3+9x8

12. :
4X3"=20+5

(5)



14.

15.

16.

17.

ol ABcheto] 150%9] ofshge matstol 4809 sPgol 9lck. o|Re s ZhTkat

FEi 2= HEREL (2)

20 180002 E12] 7150] St o714 A3 L& Wun, el ise]

S wisich 30 dorle 715 2 doklvt? (4)

=

&2 7atstet. (10)




